T AT i o BT 7 i i s
BX 2 AR T

I SEH8 AR B AR % D e v
A RIREHE B

Bh R

o

/I\ T R R T A N R R




;Ii; %% Xz i& E‘E 2L sl =
o = A Bu ¥R S A e -
( (":EK4 ) ERZE=
]
. EBE3E3 X5 - &5 BRRERX % B TR AR K 1
L 7o, #2 (HTESK)OHS
e 7Oy NEH | 0.20 ha | 0.20 ha | 0.28 ha | 0.28 ha
THL2 3m {504 it T 5 0.02 ha 0.02 ha | 0.08 ha 0.02 ha
=—1 EZIi%0 EROSENISZFR
B T 6l 7 mm 8 mm - mm - mm
ooy (T o5 o % (LX) 62 8 10 5 17
& = — ’ ; : 63 10 12 7 17
E== |=_r,§s n_ als z|=ale 5w T eew|wem 1 15 17 7 20
T T Y R T IR Iy T 2 17 22 8 2
7 w\ X e id] *=3m’l. = lg—z =] il 3 20 24 9 20
s 0 ]
s ?‘ 1 ‘ 12 3 0.0S l 1 12 3 0.03 ’ + ‘ & B 61 48 cm 53 cm - cm - c¢n
T B 62 63 65 12 197 1
j P S O T ST l 05 Jetialtol dap ’ 92 i3 63 76 85 46 210
- il B ekl d 1| 106 109 49 223 ]
ol IRV I 2| 128 137 52 237
R B | 8 i1l 1—2:*‘3— —_— ’ l 4
Sl R e FEEl ke L 3| 153 164 83 283
e 222 . |: |
= |z \ \ 23 |2 I \ ‘ HA%D 61 | 16,650 & | 37,500 & | 1,071 & - %
RER 62 | 19,750 33,000 2,143 21,700 :
63 | 18,600 34,800 2,143 13,500
; ’ : N | ]
2) ?=,h AL (HE X)ORK 9 = - - =
@F502 0
=3 mE HE (LX) 1
=-2 = 73 (4) BFO#EEWE
— w2 & a = y BLEE 628 63%F xem oug 1
- - = | = = 'l 7 = Al A R ] bid J
=3 = zlz az|lz =% &= z|z z|l=z =
| _s2= | 20m |.. 522 |__2m | gea g (5) #Hnim@E )
v 1 v | 183 |pig T | s | WFmemEmeE | B24EF 63FE nEE 2FF AEE
” 12 29 12 5 B THEREK 8% 32% 24% 12% 46% 1
v x| 3\ emieer M B =z | 31 AHK 10% 42% 25% 14%
15| - 22 15 3 ‘
FTHNT 2 132_2,“ T as2 LU v = et i
22 12 22 12 2 4, oM
TORE 2 |5 = 043 W0 55— | 915 ‘
a 207|791 (1) @FH#HE (0. 28Ha)
2 92 5387 115 230 7. 62FEI[LIGIEH300%, Ha¥hl, 07 1 kilfL. 63 3 1
2 2 AICWSIEE 30 0&ZBMUE 60 0 KM% L 1,
= ﬂEfﬂSZEEk#WFﬁEim@Téf&)_LK(D%E‘SL%%EL-_o
(2) Jmy rNO.2T8 liﬁﬁﬁ‘s:{zmyufﬁﬂi‘c‘?ﬂlﬁﬁﬁﬁbta .
ETWEE L A&Cfﬁgi"ﬂ)\?%o
2 v\ﬁ’.%ﬁi‘f’ﬂmﬁ T3,






w5 B R R T




T CF 2 4 BH ¥e 52 pE 9B &

kA 2 O OE M E
IRE MM E Rl R oL
A " A ORREHE R A
W - BH | REERH b B | A6 14
X | EMEMNE ¥ =
fEr) BE {5 5 T8 £ ¥
TE e At fi
£ OE M K B OB & 5 # B . £ i #® &
1. BTHAEFTHESIEERE
2, RREMRE




= BEe ¥ E . i3 % |
P =X I8 gL X = 7 FS R 34 ®)
4
P2,b &1 (FTESRE)0RS X5 - Ei BERAERK BBX BTHEEX] ¥%KX
i 1 70y NEF | 0.20ha | 0.20ha | 0.28ha | 0.28ha
T r— 52 4 S f 0.02ha | 0.02ha | 0.08ha | 0.02ha 1
C fRxE 6l T 8] - =
poy o 2 m{ixR) | ERoar (=X 62 8 10 > 17
|= zlz alz 5|7 3|=z|z 2lz 5% 2=l E{ﬁ 63 10 12 7 17
] :i 1.4:[ ‘ 0= ‘4,—,| ) 251& 19 - m 1 15 17 7 20
:-l 7$=§——lg—_—yg-| *'\73"?]‘ R T8 5"3"%’ l 2 17 22 8 25
' 122 3 | oz | 4 0 3 20 24 9 20
‘,]L|12‘3l13-\(\12, ] | ! .
4 | ¢ | 3 i5 ‘ . .
FRREL! l ﬁg|5219= 416 l % '\4‘_ g=m; 10 { 93 ' - 5 21 25 10 26
% ‘ ‘Wlﬂ,:! I | ! 7 61 18 53 - | -
seclie | Bgidai el |2 Haree , ; 62 | 63 65 42 197
t '4 2 I_,\Pg |4 ] ; | ‘ fiz 63 76 85 46 210
| = rn ’ ‘ \5?-55’ = 1 | cm 1 106 109 19 223
2 128 137 32 237
3 | 153 164 | 63 | 283
e . | |
7,5 a: (FE XZiNAR 4;‘ |
SR 51 193 | 251 65.8 | 285
=2 BENZEFALLT)
zz | 7 ® 7 & | @ = 4 |
= =lz alz =iz == =zlz ajz == F (4) HEEE
g - 0~ | 2l
‘ i 2= | 20._1 269 &
SR 16$|m&‘$| H—Z‘ |53.73:1l 3"*'10—@ [ thd B iR i —pw oEE  AEE  SEE
l 2 6 | SLEE 625K 63FR TN Lz 46% 17%
P *\‘} . To:m—s——w—i - 1 & 10—421 Wi E B 906 SRe
[ [ 29 15 3
!, T7 7R P 2| v !'8’2‘*’ o '5; :
I a2 |
P _ L |l | g.; 10 ~g—i% | 2 4, TN
”"’"’-"l t ‘ZG—Q‘H‘?—‘S} l A ' (1) #7T##KE (0. 284a)
260 7. B2E3ALWIEHI00% Ha%nl, 07 LAMEL. 63 &3
¥ | 23| | ’5537 | us { ’ | AEWSIEEI00X2AMLH600FHAL 2,
' 1. BAIC 2 =X HAREZRET 52N ROLR S LEEML L,
(2) ZowiNoO.2 TOLlEBEPSIRZTEZSTTAMRERL =,
LHEF | BESIRCFSBEEATI.
2 RERBORMEETZT 3,




S’r_/&‘@}f— = 7 Bd 8 5= | ¥R &

BX 2 OB M OB
I BRI AT AR R R R O e
BOE| TUAVKREFERRG
@) wR B R RS e M | @6 14
%  EREKE | R ~
Gp oz i f S
£ 5 g i F
£ OE M OE K O£ B b ® B . % M ® &
1. k& %




